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vai—

TEFHEKX
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= GRIEE

CEX

No.1

L=y 2IL—% 500m LAP | 1000m LAP | 1500m LAP —WA {j'*%
ZFOUTILAAIIL| 1
No. 2| W FEYR K SATER O[(ERE )| 51 2:16:80 [ 4:45:89 | 7:30:i16 [10: 02:12
45 [#ERRHDAE 3| LR =i < \IEEEesw (#8882 ) 3[12:13:30]4i35:85[7:11:16| 9:27 47
6H10B(L) |4 | =& L < HAREK >|(EAR )| 2| 2:10:77 | 4:31:85| 7:05:78 | 9: 24 :46
8:40 5| JIIAR HE < mremezamen S| (BARE )| 1121624 14:36:24 (70504 9:17 56
— 6 | JIIRZ FH < I\BEEaR>[(#ER ) 412 17771441967 23:21|9:50:62
ZFIUTILAAIIL| 1
No. 2| =R/ BF < sk (AR )| 5]12:20:53[5:00:55| 8:00i17 [10i 35:42
46 |HERSERM 3| 5% 3¢ C\mEEmEER >|(#HER )| 3[12:16:24 14:39:142 |1 7:15:26 | 9: 36 :69
6H10B (L) |4 | T FBEEX <K HAEEKRO|(RHE ) 2121664 | 4:42:33 | 7:20:02 | 9: 31 :91
8:48 5| ik 2 mrzmxeamsn >\ (AR )| 11 2:17:1514:37:148 | 7:09:74 | 9: 26 :29
— 6| BTk BEFIMIIERD[(FE=# )| 4]12:25:70 [ 4:51:10| 7:32:01 | 9:53 .57
ZFIUTILAAIIL| 1
No. 2 | JNAR B mremieaman > (BERE )| 11212257 14:46:78 | 7:16:10 | 9: 34:80
47 (HERRHFAE 3| A £F (mzEXor>(mMR )| 322863 |4:55:57[7:31:67]9:46 53
6A10B(X) |4 | Ak 2 C HEER OI(KERF ) 21219140 | 4:47:118 | 7:24:63 | 9: 43 :39
8:56 5110 KK < AFER S[(RBHER ) 4122350415013 [7:29:56 | 9:48:76
— 6| F R X&F < KfE# D[(EWHR )| 5|2:26:26 [ 4:58:73 | 7:43:00 |[10: 02 :47
ZFIUTILAAIIL| 1
No. 2 | #EH KR <IRIESKRO((E )1 412:19:2014:47:82 1 7:26:50 | 9:51:73
48 [HERREGHE 3 H #EEr  mEER S|(H 131218142 14:42:2317:18. 19| 9:43:55
6810B(L) (4| /8 & <EMEZFER>|(HER ) 1)12:14:64|14:32:50| 7:02:5119:19:34
9:04 5| 2K WMt < 5figi >(= )1212:19:19214:39:28 1 7:10:99 [ 9:29:86
— 6
ZFUTILAAIIL| 1
No. 2| sk XM CWUESED(ERE ) 4] 2:27:08 [ 5:00:01 | 7:38:64 [10: 02:58
49 [HERREHAR 3| BA BREC SHEMR (A ) 1121500 | 4:36:33 | 7:07:03 | 9: 25 47
6H10B(L) |4 | B ¥ < EEK >|(=@HR) 3122078 (4:47:10( 7:22:80| 9:33:19
9:12 5| B TFTH SRER (A )| 212 17:4914:40:03[7 13 98] 9:31:51
— 6
BEFUTILRAIL 1
No. 2 | BN CEBmER (2R )] 3|1 1:58:21 | 4:03:47 | 6:20:68 | 8:23:83
50 |#EiR i DAR S| HH BA < AfE®R (B2 ) 512:01:49]4:06:62[6:28:23 | 8:38:38
6H10B(X) |4 | %0 & < HHEASK >[(X28)[ 1]11:56:91[4:00:58 | 6:16:80 | 8: 20:59
9:20 5|k B— < EEfg S(=8R)| 212:02:55]|4i07:29|6:22:58 | 8:22 64
— 6| ER & <CHMLESRO[(ZRB2 )] 42 03:58|4.08:98 |6:26:08 [ 8:28 73
BEFUTILRAIL 1
No. 2| EH B8 < KESK D(m#MFF )| 312:02:01[408:71]6:23:199 | 8:31:97
51 |HERSEM B3| KB Fk < FEgfg >S(=BR) 212:0466)|409:93[6:28:66 | 8:29:99
6H10B(L) |4 | 1A FHKEF < HBEBIESK >|(BHE )| 1| 2:01:44 | 4:07:00| 6:23:22 | 8 25:49
9:28 5| FH B < #mBEER S(HRR )| 512:03:79]4:i11:43[6:32:09 |11:46:39
— 6| £E¥ KEE < mremreamsn D (AR )| 4[1:57:97[4:01:96|6:28:24 | 8:34:80
BEFUTILRAIL 1
No. 2 | pEGx = < FRpmBER >|( RERE ) 3[1:59:7714:07:146 |1 6:25:10 | 8:31:10
52 |HEiR R FAR 3| FE BAE <(SAAEKO(B2®BRI )| 1]11:57:99|4:03:05|6:18:81 | 8:24:80
6H10B(L) |4 | @A FERE <<FHNERSKRO|(ZHERE ) 2] 1:59:40|4:06:26 | 6:23:80 | 8:26:34
9:36 5| Bl B <HNASZEERSI(EER )| 4[12:00:83]14:09:89|6:30:57 | 8:35:90
— 6| Rl EF <(FHEFRERO[(EHR )| 5| 1:56:08[4:04:35]|6:27:60 | 8i36:47
BEFUTILRAIL 1
No. 2| RH HT (SAAERO(ER2 )] 4]11:59:35|14:08:32|6:28:79 | 8:40:20
53 |HEREGHE 3| HFE @A B S(EA#AR)211:58:192 140366 | 6:21:33 [ 8:22:88
6810B(X) |4 | & Mt CoEEi (=323 3]12:0062|4:05:81]6:22:63 | 8:25:40
9:44 5| 5 BC  mrrmxeamms > (8EAKE )| 1] 1:56140 [ 4:00:61 | 6:19i27 | 8i22:48
— 6| FH EX < FHHER D[(#EXRE )| 5|12 08:06[42443]|6 000992163
BFOUTNLRAL| 1| Pt BWE < PEASHER D|(MEWRE )| 3| 1:58:24 | 4:10:59 | 6:28:28 | 8:32:19
No. 2 | EE Bhth < SIAEERD(ERE )| 412:00:26 [ 4:11:24|16:27i15| 8:32:72
54 (SR EHAR 3| M HE CEFEERO(EHAR) 1]11:57:37[403:74|1619:86 | 8:22 98
6H10B (L) | 4| K AE < EBIXxsR (LS8R ) 21 2:01:11[4:09:15 | 6:22:90 | 8: 25:57
9:52 5| fElH HE <(FHSHERsSKO(ZER )| 5(1:59:02]|4:08:13[6:25:73 | 8:34 82
— 6 | EH B  K¥tEdaR >|( RGRE )| 6 [ 2:08:76 | 4:30:86 | 7:02:06 | 9:13:25




No.2

o TH2OEE L BAS = TEFEAR WU

[
-y JI\L—% 5% | 500m LAP | 1000m LAP | 1500m LAP | 3-n94L | (&
ZFVUTILAAN 1| FE OBRE < HASK S[(X2E) 112 1451 [4:31:30(6:54:39| 9:02 .57
No. 2| Ky K < EASK S(@#R )| 512:12:4914:32:45(7:02:71]9:13 53
55 |HEiR AR 3| BB FTEX CrmAFAER >[(H#ER )| 6[2:1095]4i31:30[7:02:16 | 9:13 .93
6H10H (L) |4 | WA £k <ERABAF > (ERaf ) 212:10:136 | 4:28:52 | 6:53:91 | 9: 07:01
10:20 5| FIY RE < FE@ER S(@#R) 412 1205]14:3364[7:01:63]|9:12:75
EAY 14 | 6| BA FEXR <<EHXFERO(HEE ) 32 10:95]4:31:30|7:0057(9:12:10
ZFVVTLRAN 1 | AR BF <pBRigE >|(BNIR )| 31 2:14:28 [ 4:31:89 | 6:55:144 | 9: 04 :76
No. 2| A0 FEFCFNERER((BRE )| 41 2:12:143 [ 4:29:67 | 6:54i198 | 9: 07 183
56 |$EiRfEBAE 3| 8K fE <CEREEER (LR )| 5121603 |4i34:32[(6:59:04]|9:09:76
6H10B (L) |4 | #FHH BHAE < ZASK >|(BHE ) 1120853 [4:23:06 | 6:45:03 | 8:57:79
10:28 5| H HF <AUFESKOI(EF# )| 212:09:148[4:23:92|16:49:19 | 8:59:36
ERY 11 | 6| RE FEMKFHERSR(ZEE )| 6| 2:13:75]|4:33:62 | 7:06:70 [ 9:20:23
BFVUGIVADIL 1| K8 BY <K EHTFERO|(HER ) 3[2:1299|4:31:17|6:57:53|9:06:35
No. 21 U0 (350 < GEAFHEIR D[ (m=nr )| 21 2:13:5914i32:23 [6:58:20 | 9:05:23
57 |$EiRfECHA 3| BHE KA < =2Efx S(=28)6[21413]14:32:76[6:59:199]9:13:19
6H10B (L) |4 |18 HFFE < ZAEKR S[(#HE) 112 0753[4:21:98|(6:44:11 | 8:52:83
10:36 5| AW fEME < SAmER [(ZER ) 412:11:7414:27:92 |1 6:54:140 | 9: 06 :80
ERY 1 |6 | KFE BE < AR D( XKk )| 5|2 1536 | 4:30:29 | 6:57:15 | 9:09:i92
BFUTILAA| 1| MR BHEL < EREER D|(BHE )| 5| 1:56i17 | 3:59:185(6:11:28 | 8:12:43
No. 2| BA B (CRUZESKR(Rm# )| 6] 1:57:89(14:02:28 |16:16:05 | 8:13:64
58 |HEiR AR 3| B3 B < EBEER DI(XKRFE) 2115272 13:53:.01|6:04:78 | 8 03 50
6H10B (L) |4 | =l Fif <KREIZESH >|(Z=#HMAF ) 1] 15071 [3:49:89 | 5:57:i22 | 7:55:27
10:44 5| A#f K— <NENEHE(FER) 3[1:55:76]|3:58:54[6:08:94| 8:05:36
EAY 11 | 6| A% ERE < WMLEESR D[(ZEE )| 4| 1581441 4:03:05|6:15:66 | 8:12:36
BFUIGLRAN| 1| ERE B <(=SBIXER>|(LER ) 6[1:5580]|4:01:37 (6 1591 |8 24:40
No. 2 | thiE C fERER >l(EmR )] 3] 1:58:52|4:00:42 | 6:08:10 [ 8:04:30
59 [#EiRfEBAE 3| Al BEIL < FEAERE S(@#R )| 2[11:53:75]|3:54 88 |6:03:78 | 8:02 24
6H10B (L) |4 | EH &5 << HEAIZXsSK>|(#ER ) 1]11:54:17[3:54:30| 6:00:42 | 7: 56 :64
10:52 5| R =i < BEfEEKR S(EAUR ) 5(1:5481]13:57:29(6:12:34]8:16 03
EAY 14 | 6| A -H << BEEK D[(Bug )| 4[1:54i117[(3:55:36[6:07:46 | 8:07:02
BFUTLAAL| 1| R FH < ZAEKR DI(BHR ) 5(1:56:33|3:58:41 (6:08:13|805:19
No. 2| (B = CSAEER (BRI ) 6| 1:57:3114:01:07]6:09:90 [ 8:07:10
60 |$ERfECHA 3| AH @mth < ipEigEER >[(EUE )| 4[1:55:7113:59:148 [ 6:07:72 | 8:00:71
6H108 (L) | 4| ¥k (B CHBEITESHOI(EBAR )] 3[11:53i72[3:54:54(6:02:77 | 7: 59:07
11:00 5| ZE #E < maemaeaman S| (FERR ) 21 1:51:80 | 3:50:31 |1 5:58:11 [ 7:50:84
EHNY 114 | 6| 1 EH CRFIESERO(BIME )| 1[1:51:41 [ 3:51:02 [ 5:59:47 | 7: 50:81
BFIUTILAAIL| 1
No. 2
61 |IERLRE O B EIE X& < AfEi Dl(&BR )| 212:33i197 | 5:14:65 [ 7: 51112 |10: 09 :45 [73-78f
6H10B(X) (4| Uk it < SAmESR O[(ZRE )| 1]12:2064 | 4:52:46 | 7:36:21 [10: 00:70 |:REE;
12:30 5| =ZH BF < ek SI(EAR)| 3122677150408 | 8:06:84 |10: 43 :74
— 6
BFIUTILAAIL| 1
No. 2| Fik BEX MBS D[(ER# )| 112:24:34(4:48:94)|7:20:34|9:38 .75
62 |IERLIR ENKH 3| NRIE Ty < J\mEREEEs > (#ER )| 21 2:20:34|14:46:99 [ 7:23:67 | 9:44:17 [68-72{i
6A10B(X) [4 |10 XK < RKfigk >[(EHE ) 3]12:22:05|4:50:93 | 7:28:67 | 9:49 22 |:REH;
12:38 5| EH KB CGTEIZXE>(BRE ) 5122520 4:55:11 [ 7:36:75 |10: 00 43
— 6| Bk XM <HWMUESKRO(ERE2)4[2:2732|4:54:116]7:32:116[9:54:20
BFIUTILAAIL| 1
No. 2| el OEFEE O EIEER DI(W#RF )| 51 2:24:59 [ 4:51:30 | 7:29:67 | 9: 47 :83
63 |IERLR EMER B3| HE ¥h < FEgix S(=B&)| 312 23:64|4:50:57[7:29:27 | 9:43:28 [63-674
6A10B(X) (4| iR B < /EEEsk>((#ER ) 212:16:17 | 4:41:11|7:22:57 | 9: 37 97 |:REH
12:46 5| 5% 3¢ C\mEEmEER S|(#ER )| 1[12:14:9514:38:195| 7:17:50 | 9: 34 99
— 6| i KT <(BEEREXSRO(BME )| 412251244746 |7 2584|944 93
BFIUTILAAIL| 1
No. 2| TE FEXCHAESRO(EHR ) 312:21:196[4:149:21 | 7:21:149 | 9:39:98
64 |IERLRE LKA 3| BK Mt < Sffei S(=Bg )| 212:22:61]14:47:119 |7 18:83 | 9: 38:34 [58-62{i
6HA10B(X) (4 | T8 BHIE < FASK D(wEEAR )| 1]12:13:02 | 4:37:89 | 7:12:44 | 9: 30 :63 |:REH;
12:54 5| = ZBTh SRS SI( KR ) 4[2:21:35|14:47:65 | 7:20:47 ]9 4473
— 6| AKX =E < BHESR O[( XK )| 5[2:2004| 4:48:15]17:24:75[9:51 .57




No.3

o TH2OEE L BAS = TEFEAR WU

[
-y JI\L—% 5% | 500m LAP | 1000m LAP | 1500m LAP | 3-n94L | (&
BFIUTILAAIL| 1
No. 2| W i  mazmxsmag > ( BBRE )| 41 2:19:155(4:47:148 [ 7: 20:97 | 9: 33 :55
65 |IERLR EKHE S| /IR B/ <(EMZFER>I(HER ) 512:18:82|4:45:65 | 7:21:86 | 9: 35:47 |53-574
6A10B (L) [4 | JIAGZR H < mremxeamss | (EARE )| 11 2:23:00 | 4:50:30 | 7:22:23 | 9: 29 94 |:REE;
13:02 5| BA BAAEC SRS DI( KR ) 2[2:18108 | 4:43:88 [ 7:17143 ] 9: 30:36
— 6| JNAR FE < mrrmxeamsn D[ ( BBAR )| 3| 2:20:50(4:46:97 |7 19:15]9:32:79
BEFOUTNLRAI 1| ERE BE < KFEmEER [ ( RIER )| 5 4:36:48 | 7:00:08 [ 9:02:60
No. 2 | FE EKX  FHahEsr SI(ERE )| 6 & 4:37:99 1 7:08:02 [ 9: 21:32
66 |IERLiRE O 3| R B <<FMERERSKO[(ZEE )| 3 Al 4:22:17 | 6:44:54 | 8: 47 :54 |73-784%
6H10B (L) |4 | HEH HE <<FHMERSK >|( ZEE )| 1 A~ 4:11:8116:27:33 | 8:30:13 |iREE
13:10 5 HEH BA < AFER Dl &REBR )| 4 HE 4:23:04 |1 6:46:77 | 8:56:14
— 6 | [FH MiE < FHHAEKR O[(FHBRE )| 2 4:18:89 | 6:36: 73 [ 8:41:29
BFOUTILARAIIL] 1
No. 2| EH B <CMASEER(EER ) 5]12:0758[4:1520]|6:36:98 | 8:45:81
67 |IERLIRENKH 3| GBS Bhth < SrhmEE S[(BER )| 21 2:04i93 | 4:12:42 | 6: 29135 | 8:31:01 [68-72f
6A10BH(X) |4| Kk & <CHMUERSRE >|[( 2R ) 1] 2:05:80 [ 4:09:85 | 6i24:33 | 8:26:71 |iREH
13:18 5| EB KE  masmrsaman > ( BBKE )| 41 2:06:37 [ 4:14 471 6:33:12 | 8:41:21
— 6| FH T K SHEASRO[(EHR )| 3]12:0060[4:07:42)6:29:02|8:35:18
BFOUTILARAIIL] 1
No. 2| EH B8 < KESK D(m#rF )| 4]12:05:54[4:11:53 | 6:33:37 | 8:43 .56
68 |IERLiR EMER 3 | & uEth ol SI(==R)212:02i138]4:09:09 [ 6:23180 | 8:28:08 [63-671
6A10B (L) | 4| BX & CEBmaR >(ZER ) 31 2:03:96 [ 4:12:78 | 6:30:17 | 8:36:66 |REH
13:26 5| G = CFmsmBER >|( RER )| 1[12:01:7814:05:77 1 6:17:94 | 8:20:82
— 6| B ME < BEfEs# D[(@EWuE )|OP| 2:02:95[ 41005 ]| 6:26i20 | 8i33:91
BFOUTILARAIIL] 1
No. 2| WA BE (FHEESKRO(ZHRE ) 4] 1:57:01[4:03:59|6:26:43 | 8:32:29
69 |IERLRE LA 3| HFE @A < EEER Sl(@#R ) 1[1:56:28 | 3:59:17 [ 6:16:72 | 8 23 :12 [58-62fu
6H10B (L) |4 | 1kik B— < 2K >|(=E8)[2]12:00:52(4:04:38 | 6:22:39 | 8: 24 :86 |RTE
13:34 5| X3 fie < EBIEem >[(EER )| 3[2:02:71]14:06:48 | 6:27:36 | 8:29 83
— 6| KB Fkk << FEEF®R D(E®E ) 51202944 07:13]|631:89|8:3895
BFOUTILARAIIL] 1
No. 2| F5 AT <KSHAAER (BRI ) 312:01:127[4:10:27 | 6:25i88 | 8:25:56
70 |IEfL R EKEE 3| A BC  Imremxzaman > (AR )| 51 2:00:83]14:09:41 [ 6:27:90 | 8: 31:56 [53-574i
6A10B(X) (4 | %0 [E < HHEASK D[(XHPE)] 1]11:56:26 | 4:03:09 | 6: 18:90 | 8: 17 :17 |:REH
13:42 5| MM HE < ERESKO[(@#R )| 2(1:57:85]14:04:49(6:21:42 | 8:17 38
— 6| IO #XB<HEBIZXERO|(EHAR )| 4]12:00:96[4.0865]|625:34|8:26:49




